Document Number Issue Date Rev. Date
WATEROUS SPL83743 1/31/2020 11/14/2024

Heavy Duty T Transmission Assy
83743

Pump Model Impeller Shaft Type Input Shaft Type See Sheet
CXN, CXV One-Piece 1-3/4-10 SAE Spline 2
CGV, CGVR One-Piece 1-3/4-10 SAE Spline 3
Bellhousing Adapter -- SAE 2 4
Bellhousing Adapter -- SAE 3 5
Bellhousing Adapter -- SAE 4 6
Oil Cooler Fittings - CG, CX I

Pump Mounting Positions - Oil Level, Breather, Drain, and Vent locations 8-9

WaterousCompany, 125 Hardman Avenue South, South St. Paul, Minnesota 55075 USA (651) 450-5000 www.waterousco.com

Note: When ordering parts, provide Pump, Transmission or PTO Serial Number.



Ref No. Description

T1 Gear-Driven

T2 Gear-Drive T

T3 Case-Transmission \
T4 Pan-Oil, Cooler

T5 Housing-Bearing

T6 Cover-Bearing

T7 Gasket-Molded

T8 Shaft-Drive T41 T27 |: ]
19 Bearing, Ball, Single Row, 40 x 90 x 23 mm

T10 Spacer-Shaft, Impeller

T11 O-Ring, 4-3/8 x 4-5/8 in

T12 O-Ring, 3-1/4 x 3-1/2 in

T14 Seal-0il, 1-5/8 x 2-1/2 in

T15 Ring-Retaining, External, 1-9/16 in Shaft Dia
T24 Screw-Drive, #6 x 1/4 in

125 Screw-Hex Hd, 3/8-16 x 1 in

T26 Washer-Lock, 3/8 in T30
T27 Screw-Hex Hd, 1/2-13 x 2-1/4 in
128 Stud-Coarse, 1/2-13 x 2-1/4 in
129 Washer-Lock, 1/2 in

T30 Nut-Hex, 1/2-13
T38 Washer-Lock, Bearing, W07

T39 Nut-Lock, Bearing, NO7 T39
T41 Plate-Serial

T44 Bearing, Ball, Single Row, 35 x 80 x 21 mm
T45 Bearing, Ball, Double Row, 35 x 80 x 34.9 mm
T48 Key-Square, 3/8 x 1-3/4 in, Square Ends T44

124

T48
After November 14, 2024 N

148 -
Prior to November 14, 2024 Optional Drive Plate

T29

138

See sheets 4-6 for bellhousing
adapter components

T48 Key-Square, 3/8 x 2 In, Round Ends
T117 Plate-Drive #10 or #11-1/2 Clutch T10
T14 w
Impeller shaft and key shown for
reference. See impeller shaft
service parts list.
)
|
E
O\ i
7z
iNZG N
WG
N | | : R u j<
@ X IO
Transmission Assembly SPL83743

One Piece Impeller Shaft
CXN, CXV Page 2 of 9



Ref No. Description

T1 Gear-Driven

T117
T2 Gear-Drive \
T3 Case-Transmission To4
Tl
L

T4 Pan-Oil, Cooler
15 Housing-Bearing

16 Cover-Bearing
T7 Gasket-Molded

18 Shaft-Drive
19 Bearing, Ball, Single Row, 40 x 90 x 23 mm

T10 Spacer-Shaft, Impeller ; | T48

T11 O-Ring, 4-3/8 x 4-5/8 in Prior to November 14, 2024
T12 O-Ring, 3-1/4 x 3-1/2 in
T14 Seal-Qil, 1-5/8 x 2-1/2 in : T
T15 Ring-Retaining, External, 1-9/16 in Shaft Dia 99 //://
T24 Screw-Drive, #6 x 1/4 in ’ |
T25 Screw-Hex Hd, 3/8-16 x 1 in T30
T26 Washer-Lock, 3/8 in

T27 Screw-Hex Hd, 1/2-13 x 2-1/4 in
128 Stud-Coarse, 1/2-13 x 2-1/4 in
129 Washer-Lock, 1/2 in

T30 Nut-Hex, 1/2-13
T35 Spacer-Shaft, Impeller

T38 Washer-Lock, Bearing, W07 138
T39 Nut-Lock, Bearing, NO7 T44
T41 Plate-Serial

T44 Bearing, Ball, Single Row, 35 x 80 x 21 mm
T48 Key-Square, 3/8 x 1-3/4 in, Square Ends
T48 Key-Square, 3/8 x 2 In, Round Ends

T117 Plate-Drive #10 or #11-1/2 Clutch

T41

127

T48
After November 14, 2024

Optional Drive Plate

T39

See sheets 4-6 for bellhousing
adapter components

T10

Impeller shaft and key shown for
reference. See impeller shaft
service parts list.

1
N
Ll

N
N
8

R
SR
RIS
RN

Transmission Assembly
One Piece Impeller Shaft SPL33743
CGV, CGVR Page 3 of 9



Ref No.

Description

T13

Seal-0il, 1-13/16 x 2-7/16 in

158

Bushing-Bellhousing Adapter

159

Cover-Access Port

T60

Adapter-Bellhousing

T61

Screw-Hex Hd, 7/16-14 x 1-1/4 in

162

Washer-Lock, 7/16 in

T63

Screw-Machine, Pan Hd, 1/4-20 x 3/8 in

164

Washer-Lock, 1/4 in

>

162

T61

158

Transmission Assembly
SAE - 2 Bellhousing Adapter

=

AC)

a4

SPL83743
Page 4 of 9




Ref No. Description
T13 Seal-0il, 1-13/16 x 2-7/16 in
158 Bushing-Bellhousing Adapter
159 Cover-Access Port
T60 Adapter-Bellhousing, SAE 3
T61 Screw-Hex Hd, 7/16-14 x 1-1/4 in
162 Washer-Lock, 7/16 in
T63 Screw-Machine, Pan Hd, 1/4-20 x 3/8 in
T64 Washer-Lock, 1/4 in

162

158

Transmission Assembly
SAE - 3 Bellhousing Adapter

T61

[

AC)

_
0
1 \\ |
AN
20 x\if\}\?
| NS
ey
iiiii J
il
;
|
SPL83743
Page 5 of 9




Ref No.

Description

T13 Seal-0il, 1-13/16 x 2-7/16 in

158 Bushing-Bellhousing Adapter

159 Cover-Access Port

T60 Adapter-Bellhousing, SAE 4

T61 Screw-Hex Hd, 7/16-14 x 1-1/4 in

162 Washer-Lock, 7/16 in

T63 Screw-Machine, Pan Hd, 1/4-20 x 3/8 in
T64 Washer-Lock, 1/4 in

162

158

L

T61

Transmission Assembly

SAE - 4 Bellhousing Adapter

| @)
e ||
~z— | |
2r ..
1 { |
. a f \jt
I
: I
i J
=
N |
W\
\\\\ / 1
| | I
@ . oY)
[ ]
77777 Y,

/ /
e /

Ll

SPL83743
Page 6 of 9



T91
See note 5

192

Ref No.

Description

T43

Fitting-Elbow, 3/8 PTC x 1/4 MNPT, 90°

T91

Fitting-Elbow, 3/8 PTC X 3/8 MNPT, 90°

192

Tubing, 3/8, Green

Notes:

1.
2. Tubing to be cut to required length depending on input rotation and pump/transmission orientation.
2. Route hoses so water drains either through pump or oil cooler
5. Prior to July 22, 2020 T91 elbow was T89 3/8 PTC X 3/8 NPT straight adapter.

CW input, vertical transmission, discharge UP shown.

T43
See note 4

Elbow on disharge flange may need to be mounted on opposite side of flange if there is
interferance with the transmission in certain configurations.

Oil Cooler Lines and Fittings
CXN, CXV

T91

Ref No.

Description

T43

Fitting-Elbow, 3/8 PTC x 1/4 MNPT, 90°

T91

Fitting-Elbow, 3/8 PTC X 3/8 MNPT, 90°

192

Tubing, 3/8, Green

Notes:
CW input, vertical transmission, discharge UP shown.
Tubing to be cut to required length depending on input rotation and pump/transmission orientation.
Route hoses so water drains either through pump or oil cooler
Elbow on disharge flange may be mounted on opposite side of flange if it provides a better hose
route depending on the pump and transmission configurations.

W~

Oil Cooler Lines and Fittings

CGV, CGVR

T43
See note 4

SPL83743
Page 7 of 9



Ref No. Description
T20 Breather, 1/4 NPT
T21 Plug-Level, Qil, 3/8
T22 Plug-Drain, Magnetic, 3/8, Headless
T23 Plug-Pipe, Square Hd, 3/8 NPT

T40 Plug-Pipe, Headless, 1/4 NPT

it T42 Plug-Pipe, Headless, 1/4 NPT
T23 T43 | Fitting-Elbow, 3/8 PTC x 1/4 MNPT, 90°

B T23 o p
| o / O AV 21
Tzox | i | ) |
s ) T40 B N\ \
A A ~
\ A
N\ = -
N (@)} 7
\‘ \\ | : Al .y,’-.
| | ( 73583-M
,l @// \\‘ ‘\ /////\\?\ N /
A 2 \\\\\ N \
RN Yy o O = fe
B o5k - Voo ~
Lo A N
AN —— N N \ S0
\ AN ‘j** e s **f’ 7 /,‘ \ ‘\\J 777777777777
i\\ —ﬁi\ oo, ﬁ— & \ i \\ **************
Ll o LT Ll “\L{ M
s \ ] =0 | | [T £ s N O O [ 5
e AT U hE 123 o
/ \ - =
~ —— —— ///
T43 T43 T T
O O T21
Bellhousing adapter removed for clarity Oil level
11T
1l
:1 |
T42
(Both ends)
Note transmission pan orientation
122
Qil drain
SPL83743
Breather, Drain, Oil Level, Plug, and Cooler Elbow Locations Page 8 of 9

Vertical Mounting Position
(CXN, CXV, CGV, CGVR)



Prior to April 12, 2024

123

T20 T23
T94
T42
/71'93 (Both ends)

Note transmission pan orientation

T42

(Both ends)

Note transmission pan orientation

il = O
/ i/ M/ \\:\\\\
\ C), \\ \\\\\\

NN |
v

| After April 12, 2024

T20
T93

123

T96
[ Note elbow
orientation
T43

W-€8S€EL

T23 T43
= 123 am|l
rf\ﬁ — /////U W‘h
\Q 5 7 -
\ \7%// - / /// // ) \ s ,
\\iz /Q;/_A /
\\\\\ | O
VA *
o\ \\ \‘\O
\\ \\ \\ \\\ N-E8SEL

T40/ §

Qil level

Bellhousing adapter removed for clarity

T21/ |

Ref No. Description

_ T20 Breather, 1/4 NPT

T21 Plug-Level, Qil, 3/8

T22 Plug-Drain, Magnetic, 3/8, Headless
T23 Plug-Pipe, Square Hd, 3/8 NPT

T40 | Plug-Pipe, Headless, 1/4 NPT

T42 Plug-Pipe, Headless, 1/4 NPT

\TZO

T43 Fitting-Elbow, 3/8 PTC x 1/4 MNPT, 90°

Bellhousing adapter removed for clarity

T95 Breather Conversion Kit

| \N
O
N )
AN Ta0— (@
NN\ )
\\\ R T21/ | .
R Oil level |-
o f
r,’ﬂ.
2
Ref No. Description
* T20 Breather, 1/4 NPT
T21 Plug-Level, Qil, 3/8
122 Plug-Drain, Magnetic, 3/8, Headless
T23 Plug-Pipe, Square Hd, 3/8 NPT
* T40 Plug-Pipe, Headless, 1/4 NPT | L -
T42 | Plug-Pipe, Headless, 1/4 NPT D —
T43 Fitting-Elbow, 3/8 PTC x 1/4 MNPT, 90° AN
* T93 Bushing-Reducing, 3/8 MNPT x 1/4 FNPT
T94 Elbow-Street, 90°, 1/4 NPT
* T96 Elbow-Street, 90°, 3/8 NPT

* Starred components are available in Breather Conversion Kit T95

T95

122

122

Breather Oil drain
Conversion Kit

Oil drain

After February 2, 2024

Prior to February 2, 2024

Breather, Drain, Oil Level, Plug, and Cooler Elbow Locations

Inverted Mounting Position
(CXN, CXV, CGV, CGVR)

SPL83743
Page 9 of 9



	Sheet1
	Drawing View1

	Sheet2
	Drawing View2
	Section View A-A
	Drawing View56

	Sheet3
	Drawing View5
	Section View B-B
	Drawing View57

	Sheet4
	Drawing View11
	Drawing View28
	Section View D-D

	Sheet5
	Drawing View12
	Drawing View30
	Section View E-E

	Sheet6
	Drawing View13
	Drawing View32
	Section View F-F

	Sheet7
	Drawing View14
	Drawing View15

	Sheet8
	Drawing View16
	Drawing View17
	Drawing View18
	Drawing View20

	Sheet9
	Drawing View46
	Drawing View47
	Drawing View48
	Drawing View49
	Drawing View50
	Drawing View52
	Drawing View53
	Drawing View54
	Drawing View55


